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Section - I
Que' - I {A) Discuss in detair about Benson Boirer with neat sketch.

(B) Exhaust steam having a qualitv of 0.9 enters at a surface condenser-
pressure of 0,13 bar and cornes out as a water at 45" C. The circLrlating
lvater enters at 25" c' and leaves at 40' c. F,.stimate quantify oi
circulating rvater anC condenser efficiency if M,:103 kgihr

Que'* i (A) What rlo y'ou mean b-y- Superi:h"r'Jttrt l)i. cuss in deiarj abour Velor
Boiler with neat sketch.

{B) What are the rnain con-rpoilents of nuclear reactor',} Exnlain their
functions.

Que'* 2 (.A) E;xpiain rnain functions of an'-o draught sys,rem. Whar al.c il,.r: :rrj . i).ri:l iri..:i
and lirnitations of natuiai draught s)..stern

iB) Explain in detail about varioirs methcids of feed u.,ator rreatment.

Cc,mpr;r,1s Folceci and InducerJ dru,,9ff svsteni
Gi'e the comparison of fcrceri arui. oniincruced dralt cooling tower.

I12l
In a combined cycle power plant, the air is supplied at a rate of 2000
tons4rr and temperature 20"c. The pressure ratio is T:1. Inlet pressure to
compressor anci outlet pressure fiom the turbine may be taken as I bar.
The isentropic efficiency for compressor = Bao/o and for turbine = g5g'o.
The c.v of oil used:45,000 kj/kg. l-he data for steam turbine is given
below. The temperature of gas used for steam generation is increased
1200"c by buming the fuel in the exhaust coming out fronr gas turbine.
The condition of steam generateci in the boiler is 50 bar andsoo'c. r'n.
condenser pressure:0.1 bar. I'he temperafure of gas going to stack:
200"C, Find out the follorvins :

1) Total power generating carraeity of the plant.
2) Overall efficienc;, of the plant.
3) Mass of fuel used per hr.

Take Cpa = 1 kJ/kg-Pi, y : i.4 for air antl Cpg : 1. i kjikg-K.
y: i .33 icr gas. Do noi neglect the fuel.
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Section - Il

Que"- 4 (A) Discuss various factor affecting the site selection for thernral po\\'er 16I
(B) Draw a net line diagram of inplant coal handling and indicate the name 16l

of equipments used at different stages. Also discuss coal preparation

OR
Que. - 4 (A) Classitl' solid fuel firing system in detail. Also describe under stoker 16l

fuel firing system with neat sketch.
(B) Write advantages.and disadvantages of pulverize fuels in therrnal po\\'er 161

Que.- 5 (A) Discuss pneumatic ash handling system. tsl
(B) Discuss cyclone separator witb neat sketch also discuss advantage and t6l

disadvantage of cyclone separator

OR

Que. - 5 (A) Discuss electrostatic precipitator in ash handling system t5l
(B) Describe effect of flyash on the soil quality in detail and crop yieid. 16.l

Qrr*. - 6 (A) Disclrss Cyclone burner wlth near skctch 161
(B) Describe various important modern methods for control of sulilhur t6l

dioxidc.
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